Solutions to Quiz 3, Math 253 B25/B26 Wed. 02/16 , 1300 hours

J. Shen, D. Kinzebulatov
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It is o.k. to not change the limits and convert back to x at the end.

() / - - do| +omni = / 28 5I000) o) du =

xr — 2)2]% dz=cos(u) du COSS(U)
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2. Calculate /el’ arctan (€”) da| ,oo = /arctan(u) AU vzarctan(u), av=t =

du=e*dx du , V=u
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= warctan(u) — / du = e" arctan(e”) — §1n (1 + 6290) + C,
where we first used substitution, then integrated by parts.
3. Consider the finite region between the curves y = 2® and y = 42, 0 <z < 2. Set up an
integral for the area of this region (a) using the x-axis, and (b) using the y-axis, as the axis

of integration. DO NOT EVALUATE.
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